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(W) BBI=LBH100kN/MEBX ZRHADBHOADBKRERN/M) () HHEHIMERZ SR ORED H OBRABKRN/ ) preyy=y= R RET = REE
(B) (AN LZBEMIERTIBEDTRENEE(m) (F) B LSZBREYIERTIEENLTAZEDEE(m) =
(C) #EN=&LBHA100kN/ MU T DX B DFEI D H DERKIEKN/M) (G) HIESHIMUTORIGEDHIED HDOZAEKRN/M) L nE S
D) COILEZLEEYIERTSEEDLIRENTE(M) H) QI LZEEYIERTZEEDETRENEE(M)
FETIHIYVTADEITEEZEDHDOKRES AEMBNOLTEEDHDKRES
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(A) (B) (C) (D) (E) (F) (G) (H) (A) (B) (C) (D) (E) (F) (@) (H)
(1) 127.2 1.0 99.6 1.0 - - 11.6 2.3 126.1 1.0 96.5 1.0 - - 116 2.3
( 2) 124.7 1.0 99.8 1.0 - - 13.3 2.6 124.7 1.0 96.9 1.0 - - 13.3 2.6
( 3) - - 63.6 1.0 - - 125 25 - - 60.0 1.0 - - 125 25
( 4) - - 55.9 1.0 - - 12.3 2.4 - - 50.9 1.0 - - 12.3 2.4
( 5) - - 83.4 1.0 - - 1.5 2.3 - - 783 1.0 - - 115 2.3
( 6) - - 83.8 1.0 - - 12.2 24 - - 78.7 1.0 - - 12.2 2.4
( 7) - - 53.1 1.0 - - 15.0 3.0 - - 49.6 1.0 - - 15.0 3.0
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